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1. Name the Author of the book Prachina malayalam. 

A) Sree Narayana Guru    B) Pandit Karuppan 

C) Chattampi Swamikal   d) Vagbhatananda

2. Battle of Colachel was fought between

A) marthanda Varma and the dutch 

B) dharmaraja and the dutch

 C) marthanda Varma and the Portuguese 

d) marthanda Varma and the British

3. The First All Kerala Provincial Conference was held in 1921 at

A) manjeri B)  Ottappalam C) Payyannur d) Palakad

4. The founder of the organisation named Atmiya Sabha

A) Swami Vivekananda   B) Veerasalingam

C) Kesab Chandra Sen   d) Rajaram mohan Roy 

5. Which among the given Acts provided for a bicameral legislature at the centre during 
the British period ?

A) Act of 1919 B) Act of 1909 C) Act of 1892 d) Act of 1935

6.  The INC Session of 1920 was endorsed the programme of Non-Co-Operation 
movement. Where was the Session held  ?  

A) Calcutta B) Nagpur C) Allahabad d) madras

7. Who led the historic long march in China ?

A) Chiang Kai Shek  B) Sun yat Sen

C) mao Tse Tung  d) yuan Shikai

8. Which of the following language is not an official language of UNO ? 

A) German B) English C) Arabic d) French

9. The National Park where recently brought Namibian Cheetahs are accommodated

A) Gir B) Kaziranga C) Kanha d)  Kuno

10. Who won the First Keralajyothi Award 2022 ?

A) T. Padmanabhan   B) K. R. meera

C) m. T. Vasudevan Nair d) Sachidanandan
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1. NkL\}j ospLtU IÐ kOñW¾]R£ q\p]fLv]R£ SkqV.

 A) è}jLqLpe YOqO   B) k¼]ãV WrOÕ¢ 

 C) \ŸÒ] y~Lo]W¥   d) vLYVnaLjÎ¢

2. RWLt\ÿ¤	pOÈU	jaÐfV	BRqLR¨	fÚ]sLeV	?

 A) oL¡¾L¼v¡ÚpOU	c\ÿOWLqOU	

 B) i¡ÚqL^pOU	c\ÿOWLqOU	

 C) oL¡¾L¼v¡ÚpOU	SkL¡\ÿOY}yOWLqOU	 	 	

 d) oL¡¾L¼v¡ÚpOU	Nm]Ÿ}xOWLqOU

3. 1921&Rs	Bh|R¾	AX]s	SWqt	RNkLv]¢x|¢	ySÚtjU	jaÐfV	Iv]RapLeV	?	

 A) oSµq] B) KãÕLsU C) káÐP¡ d) kLs¨LaVV

4. BÄ}p	yn	IÐ	yUZajpORa	òLkW¢.

 A) y~Lo] v]SvWLjÎ¢   B) v}qys]UYU 

 C) SWwmV	\NÎ	Ry¢	 	 	 d) qL^LrLU	SoLz¢	SrLpV

5. fLRuÕrpOÐvp]¤	JfLeV	Nm]Ÿ}xV	nqeWLs¾V	SWNÎ¾]¤	KqO	h~]yn	 

j]poj]¡ÚLe¾]jV	j¤W]p]ŸOçfV	?

A) Act of 1919 B) Act of 1909 C) Act of 1892 d) Act of 1935

6. 1920-Rs INC Ryx¢	j]ôzWqe	 NkòLj¾]jV	AUY}WLqU	j¤W].	Iv]RapLeV	

Ryx¢	jaÐfV	?

A) W¤¨Ÿ B) jLYVkP¡ C) AszmLhV d) oNhLyV

7. RR\jp]¤	\q]NfkqoLp	SsLUYV	oL¡\ÿ]jV	SjfQf~U	j¤W]pfV	BqLeV	?	

 A) \]pL‚V	RRW	Rx¨V			 	 B) y¦ pLfV Ry¢

 C) oLSvL RyfO‚V   d) pOvL¢	x]WLpV

8. fLRu	fÐ]q]¨OÐvp]¤	UNO pORa	KTSh|LY]W	nLxpsæL¾fV	JfV	?

 A) ^¡Ú¢	 B) CUYæ}xV	 C) Arm]WV	 d) NlµV 

9. jo}m]p¢	\}ãWRt	AaO¾]Ra	fLoy]Õ]¨OvL¢	RWLºO	vÐ	Shw}p	Dh|LjU.	

A) Y]¡  B) WLy]qUY C) W¢z d)  WOSjL 

10. Bh|	SWqtS^|Lf]	AvL¡cV	2022&¤	Sja]pfV	BqV	?	

 A) a].	kÄjLn¢	 	 	 B) RW.	B¡.	o}q	

 C) IU.	a].	vLyOShv¢	jLp¡ d) y\ÿ]hLjÎ¢
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11. Consider the following statements.

i) Trade winds blow from subtropical high-pressure belt to equatorial low-pressure belt.

ii) The land and sea breeze are examples of trade winds.  

iii) Trade winds blow steadily in the same direction and in a constant course. 

iv) Trade winds are best developed in the polar regions.

 Which of the above mentioned statements is/are correct ? 

A) (i) only   B) (ii) and (iii) only

C) (iii) and (iv) only   d) (i) and (iii) only

12. match list – I and list – II and select the correct answer using the codes given below.

List – I List – II 
Dam River

a) Pothundi  i) Karamana

b) Peringalkuthu ii) Chalakkudy

c) Shengulam iii) Bharathapuzha

d) Peppara iv) muthirappuzha

Codes :

A) a – iii, b – ii, c – iv, d – i B) a – ii, b – i, c – iv, d – iii

C) a – iv, b – i, c – ii, d – iii d) a – ii, b – iv, c – iii, d – i

13. Identify the statement which is/are not correct.

i) Igneous rocks are volcanic in type, hence no fossils.

ii) Granite and Basalt are examples of igneous rocks. 

iii) Igneous rocks are primary rocks formed on the earth. 

iv) Igneous rocks have layered structure.

Codes :

A) (ii) only   B) Both (i) and (iv) 

C) (iv) only   d) None of the above

14. How many pairs given below is/are correctly matched ?

i) Banihal – Jammu and Kashmir

ii) lipulekh – Sikkim 

iii) Rohtang – Himachal Pradesh

iv) Shipki la – Arunachal Pradesh  

A) Only one pair   B) Only two pairs 

C) Only three pairs   d) No pair
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11. fLRuÕrpOÐ	NkñLvjW¥	kq]Ye]¨OW.	

i) Dk	DxVeSoXsL	Dp¡Ð	o¡Ç	vsp¾]¤	j]ÐV	oi|SqXL	fLuVÐ	o¡Ç	vsp¾]
Ss¨V	vLe]^|vLfU	v}wOÐO.

ii) WqpOU	Wa¤¨LãOU	vLe]^|vLf¾]jV	DhLzqe°tLeV.  

iii) vLe]^|vLfU	KSq	h]wp]¤	ò]qoLp]	v}wOÐO. 

iv) NiOvNkShw°t]sLeV	vLe]^|vLfU	JãvOU	jÐLp]	v]Wy]¨OÐfV.

  oOWt]¤	yP\]Õ]\ÿ	NkñLvjWt]¤	JfLeV	wq]	? 

A) (i) oLNfU  B) (ii) DU (iii) DU	oLNfU

C) (iii) DU (iv) DU	oLNfU   d) (i) DU (iii) DU	oLNfU

12. s]ðV – I, s]ðV – II IÐ]v	RkLqO¾RÕaO¾]	fLRu	j¤W]p]q]¨OÐ	 SWLcOW¥	
DkSpLY]\ÿV	wq]pLp	D¾qU	f]qR´aO¨OW.

s]ðV – I s]ðV – II 
AeR¨ŸV jh]

a) SkL¾Oº]  i) Wqoj
b) Rkq]°¤¨O¾V ii) \Ls¨Oa]
c) RwËOtU iii) nLqfÕOu
d) SkÕLr iv) oOf]qÕOu

  SWLcOW¥ :

A) a – iii, b – ii, c – iv, d – i B) a – ii, b – i, c – iv, d – iii

C) a – iv, b – i, c – ii, d – iii d) a – ii, b – iv, c – iii, d – i 

13. wq]psæL¾	NkñLvjW¥	f]q]\ÿr]pOW.

i) BS®p	w]sW¥	A®]k¡vÿf¾]R£	fq¾]sLeV,	Af]jL¤	SlLy]sOWt]sæ.

ii) Wq]ËsæOU	myL¥ŸOU	A®]w]sWtORa	DhLzqe°tLeV. 

iii) nPo]p]¤	qPkRÕaOÐ	NkLgo]W	kLrWtLeV	BS®pw]sW¥. 

iv) BS®pw]sW¥¨V	kLt]WtOç	ZajpOºV.

  SWLcOW¥ :

A) (ii) oLNfU   B) (i) DU (iv) DU

C) (iv) oLNfU  d) CvRpLÐOosæ		

14. fLRu	RWLaO¾]q]¨OÐ	INf	S^Lc]W¥	wq]pLp]	RkLqO¾RÕaOÐO	?

i) mj]zL¤ – ^ÚO	& WLwVo}¡

ii) s]kOSsXV – y]¨]U 

iii) SrLzVfL‚V – z]oL\¤	NkShwV

iv) x]kVW]	sL – AqOeL\¤	NkShwV 

A) KqO	S^Lc]	oLNfU   B) qºV	S^Lc]	oLNfU 

C) oPÐV	S^Lc]	oLNfU  d) S^Lc]	Csæ
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15. Name the cargo ship got stuck near the southern end of the Suez Canal in march 2021.

A) mSC Oscar B) mSC mina C) Hmm Oslo d) Ever Given

16. The total expenditure of Government of India on revenue and capital accounts, net 
revenue receipts, recovery of loans and other receipts is

A) Revenue Deficit   B) Fiscal Deficit   

C) Primary Deficit   D) Effective Revenue Deficit

17. Construction is part of

A) Primary Sector   B) Secondary Sector 

C) Service Sector   d) None of these

18. Which of the following statement/statements is/are correct ?

i) Transfer payments are part of Personal Income.

ii) disposable income includes direct tax payments.  

iii) NNP at factor cost includes indirect tax payments.

A) Only (i)   B) Only (ii)

C) Only (ii and iii)   d) All the above (i, ii and iii)

19. Which of the following statement/statements about the sectorial contribution of GdP  
in India, is/are correct ?

i) The percentage share of primary sector has declined over time.

ii) The percentage share of secondary sector has declined over time.  

iii) The percentage share of service sector has declined over time. 

A) Only (i)   B) Only (ii and iii) 

C) Only (i and ii)   d) All (i, ii and iii)

20. Which is the best policy combination for RBI to reduce money supply in the economy ?

i) Reduce reverse repo rate, increase reserve ratio and open market sale of bonds.

ii) Increase repo rate, increase reserve ratio and open market sale of bonds.

iii) Reduce repo rate, reduce Bank rate and open market purchase of bonds. 

A) (i) B) (i and iii) C) (iii) d) (ii)

21. Identify the women member who was both part of Universal Declaration of Human 
Rights (UDHR) and Constituent Assembly of India.

A) Vijaya lakshmi Pandit  B) Sarojini Naidu   

C) durgabhai deshmukh  d) Hansa Jivaraj mehta
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15. 2021 oL¡\ÿ]¤	yPpyV	WjLs]R£	RfS¨	Aã¾V	WOaO°]p	\q¨V	WÕs]R£	SkqV	j¤WOW.
 A) mSC KLyVWL¡ B) mSC o]j C) Hmm KLSyæL	 d) Ever Given

16. rvj|P,	W|Lk]ã¤	A¨TºOW¥,	Aã	rvj|P	qy}fOW¥,	vLp×WtORa	v}RºaO¨¤,	oãV	
qy}fOW¥	IÐ]vp]¤	CÍ|LYv¦Ro£]R£	BRW	R\svV	Cvp]¤	JfLeV	?

 A) rvj|P	WÚ]	 	 B) ij¨Ú]
 C) NkLgo]W	WÚ]	 	 	 d) lsNkhoLp	rvj|P	WÚ]	

17. j]¡ÚLeU	______ nLYoLeV.

A) NkLgo]W	SoXs  B) h~]f}p	SoXs 

C) Syvj	SoXs   d) CvRpLÐOosæ

18. fLRuÕrpOÐ	NkñLvjWt]¤	JfLeV	wq]	?

i) NaL¢yVl¡	SkpVRo£OW¥	v|©]Yf	vqOoLj¾]R£	nLYoLeV.

ii) c]yVSkLy]m]¥	vqOoLj¾]¤	Sjq]ŸOç	j]WOf]	AavOWtOU	D¥RÕaOÐO.  

iii) NNP lLW›¡	\]sv]¤	kSqLƒ	j]WOf]	SkpVRo£OW¥	D¥RÕaOÐO.

A) (i) oLNfU  B) (ii) oLNfU

C) (ii) DU	(iii) DU	oLNfU   d) CvRpsæLU (i, ii and iii)

19. CÍ|p]¤	GdP-pORa	SoXsL	yUnLvjRp	WOr]\ÿOç	fLRuÕrpOÐ	 NkñLvjWt]¤	
JfLeV	wq]	?

i) NkLgo]W	SoXspORa	wfoLj	v]z]fU	WLsNWSoe	WOr´O.

ii) h~]f}p	SoXspORa	wfoLj	v]z]fU	WLsNWSoe	WOr´O.  

iii) SyvjSoXspORa	wfoLj	v]z]fU	WLsNWSoe	WOr´O. 

A) (i) oLNfU  B) (ii) DU	(iii) DU	oLNfU 

C) (i) DU	(ii) DU	oLNfU   d) CvRpsæLU (i, ii and iii)

20. yÒhVv|vòp]¤	kesn|f	WOràOÐf]jV	RBI pORa	JãvOU	o]W\ÿ	jp	yUSpL^jU	
JfLeV	?

i) r]SvuVyV	r]SÕL	j]q¨V	WOràOW,	WqOf¤	ijLjOkLfU	v¡È]Õ]¨OW,	
SmLºOWtORa	KLÕ¦	oL¡¨ãV	v]¤Õj.

ii) r]SÕL	j]q¨V	v¡È]Õ]¨OW,	WqOf¤	ijLjOkLfU	v¡È]Õ]¨OW, SmLºOWtORa	
KLÕ¦	oL¡¨ãV	v]¤Õj.

iii) r]SÕL	j]q V̈	WOràOW,	mLËV	j]q V̈	WOràOW,	SmLºOWtORa	KLÕ¦	oL¡¨ãV	vL°¤. 

A) (i) B) (i and iii) C) (iii) d) (ii)

21. ojOx|LvWLw°tORa	yL¡vÿNf]W	NkX|Lkj¾]R£pOU	(UDHR) CÍ|pORa	nqeZajL	
AyUmæ]pORapOU	nLYoLp	vj]fL	AUYR¾	f]q]\ÿr]pOW.

 A) v]^psƒÜ]	k¼]ãV		 	 B) ySqL^]j]	jLp]cO	
 C) hO¡YLnLpV	ShwVoOXV		 	 d) z¢y	^}vqL^V	RozVf
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22. Which one is a right answer regarding the Balwant Rai mehta Committee ? 

A) Proposed reservation for SC and ST communities

B) Three-tier system for local governance with role of political parties 

C) Three-tier system, i.e. Village Panchayat, Panchayat Samiti and Zila Parishad 

d) Nyaya Panchayat for dispensation of Justice at local level

23. Consider ‘‘Special Officer for Linguistic Minorities’’, and choose the right answer from below.

A) This is a statutory body 

B) It is under ministry of Home Affairs

C) Constitution has been defined Linguistic Minorities

d) Recommended by State Re-organization Commission-1956

24. Select right answer from given below statements regarding directive Principles of 
State Policy (dPSP).

1) This idea was borrowed from British Constitution.

2) Some ideas are reflection of Gandhian Principles.

3) It’s a yardstick to measure the performance of government.

4) It is subjected to amendment, and, also beyond judicial review.

 Choose the correct answer from the codes given below.

A) (1) and (2) B) (2) and (3) C) (3) and (4) d) (2), (3) and (4)

25. Which one of the following statement is NOT a right explanation with respect to 
Concurrent list ? 

A) It contains in the Seventh Schedule of the Constitution

B) State laws shall prevail in force, if there is any conflict with law passed by 
Parliament

C) This Scheme of distribution is based on the Government of India Act, 1935

d) Entry 20 A-Population Control and Family Planning was a newly inserted subject in 
Concurrent list in 1976

26. Who did coin the term ‘‘bureaucracy’’ to explain the government administration of  
non-elected officials ?

A) max Weber   B) martin Albrow 

C) Vincent de Gournay   d) Herbert A. Simon

27. Toll free Number ‘‘1800-11-4000’’ is a dedicated helpline number to people for 
redresses of their grievances related with

A) Anti-Ragging helpline   B) Consumer helpline 

C) National Health helpline d) None of the above
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22. m¤vÍV	rLpV	So¾	WÚ]ã]pOoLp]	mÌRÕŸ	wq]pLp	D¾qU	JfLeV	?

A) SC, ST v]nLY°¥¨V	yUvqeU	j]¡Shw]\ÿO

B) qLNì}p	kL¡Ÿ]WtORa	kËV	DkSpLY]\ÿV	NkLShw]W	nqe¾]jV	Nf]fs	yUv]iLjU

C) Nf]fs	yUv]iLjU&NYLokµLp¾V,	kµLp¾V	yo]f],	^]sæL	kq]x¾V

d) NkLShw]W	fs¾]¤	j}f]	jaÕL¨OÐf]jV	j|Lp	kµLp¾V

23. ""nLxL	j|Pjkƒ°¥¨Oç	NkSf|W	KLl}y¡''	kq]Ye]¨OW.	fLRu	fÐ]q]¨OÐvp]¤	
j]ÐV	wq]pLp	D¾qU	RfqR´aO¨OW.

 A) CRfLqO	j]poLjOyQf	òLkjoLeV	
 B) CfV	Bn|Íq	oNÍLsp¾]jV	W}u]sLeV
 C) nqeZaj	nLxL	j|Pjkƒ°Rt	j]¡vÿ\]\ÿ]q]¨OÐO	 	 	
 d) yUòLj	kOj:yUZajL	WÚ}x¢&1956 wOkL¡w R\pÅfV  

24. yUòLj	jp¾]R£	cprWVã}vV	Nk]¢y]Õ]¥yV	(dPSP) yUmÌ]\ÿ	fLRu	j¤W]p]
q]¨OÐ	NkñLvjWt]¤	j]ÐV	wq]pLp	D¾qU	RfqR´aO¨OW.
1) CT	BwpU	Nm]Ÿ}xV	nqeZajp]¤	j]ÐV	WaRoaO¾fLeV.
2) \]s	Bwp°¥	YLÌ]p¢	ff~°tORa	Nkf]lsjoLeV.
3) y¡¨Lq]R£	NkWajU	At¨LjOç	AtvOSWLsLeV.
4) CfV	SnhYf]¨V	v]SipoLeV,	WPaLRf	^Oc}x|¤	AvSsLWj¾]jOU	Af}foLeV.

 \OvRa	j¤W]p]q]¨OÐ	SWLcOWt]¤	j]ÐV	wq]pLp	D¾qU	RfqR´aO¨OW.

A) (1) DU	(2) DU B) (2) DU (3) DU C) (3) DU (4) DU d) (2) DU (3) DU (4) DU

25. 	W¦Wr£V	s]ðOoLp]	mÌRÕŸV	Cj]ÕrpOÐ	NkñLvjWt]¤	JfLeV	wq]pLp	v]wh}
WqeU	AsæL¾fV	?

 A) AfV	nqeZajpORa	JuLU	Rxc|Pt]¤	Aa°]p]q]¨OÐO	
 B) kL¡sRo£V	kLyL¨]p	j]povOoLp]	IRÍË]sOU	RRvqOÈ|oORºË]¤,	

yUòLj	j]po°¥	NkLms|¾]¤	vqOU
 C) CT	v]fqe	kÈf]	1935	Rs	Yv¦Ro£V	KLlV	CÍ|	BW›]Rj	Aa]òLjoL¨]

pOçfLeV		 	 	
 d) I¢Na] 20 I&^jyUX|L	j]pNÍevOU	WOaOUmLyPNfevOU	1976&¤	W¦Wr£V	

s]ð]¤	kOfOfLp]	D¥RÕaO¾]p	v]xpoLp]qOÐO

26. f]qR´aO¨RÕaL¾	DSh|LYòqORa	y¡¨L¡	nqeR¾	v]wh}Wq]¨L¢	
""m|PSrLNWy]''	IÐ	khU	DkSpLY]\ÿfV	BqLeV	?	

A) oLWõV	Rvm¡   B) oL¡Ÿ]¢	B¤SNmL

C) v]¢Ry£V	c]	YP¡Rj  d) Rz¡m¡ŸV	I.	RRyo¦

27. SaL¥ Nl} jÒ¡ ‘‘1800-11-4000’’ IÐfV	BtOW¥¨V	AvqORa	JfOoLp]	mÌRÕŸ	
kqLf]W¥	kq]zq]¨OÐf]jOç	KqO	yo¡Õ]f	Rz¤ÕV	RRs¢	jÒrLeV	?

A) B£]	rLY]UYV	Rz¤ÕV	RRs¢ B) DkSnL©Q	Rz¤ÕV	RRs¢

C) Shw}p	BSqLY|	Rz¤ÕV	RRs¢ d) Cvp]¤	KÐOosæ
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28. Consider the following statements regarding National Parties in India, find out the 
right answer from the codes given below.
1) There are 8 National Parties in India today.
2) Require 6 percent of the votes polled in at least 4 States plus 4 members in the 

lok Sabha.
3) Samajwadi Party is National Party.
4) National People’s Party is a National Party.
A) (1) and (2) only   B) (2) and (3) only 
C) (3) and (4) only   d) (1), (2) and (4) only

29. Which of the following statements are right as far land Acquisition Act, 2013 is 
concerned ?
1) This Act got Presidential Assent in September 2013.
2) mandatory to conduct Social Impact Study.
3) This Act duly recognized the role of local self-governments in the case of land 

acquisition.
4) Section 25 of the Act deals with compensations for the land owners.

 Choose the correct answer from the codes given below.
A) (1) and (2) only   B) (2) and (3) only 
C) (3) and (4) only   d) (1), (2) and (3) only

30. When did the Indian Civil Service (ICS) examination started to be held in India ? 
A) 1922 B) 1854 C) 1864 d) None of them

31. Summer Olympics 2020 was originally fixed at which place ?
A) Tokyo B) Istanbul C) madrid d) Rio de Janeiro

32. In which year, the famous poet Akkitham Achuthan Namboothiri won Padma Shri ?  
A) 2020 B) 2019 C) 2018 d) 2017

33. Which one among the following films won the 50th Kerala State Film Award for the 
Best Film ?
A) Kenjira B) Vasanthi C) Jellikattu d) Biriyani

34. Which art form is not included in the Heritage art forms recognised by UNESCO ? 
A) Koodiyattam B) mudiyett C) Pulikkali d) Kalbelia

35. With Australian Open 2021 Women’s singles championship, Naomi Osaka claimed 
how many Grand Slams ?
A) One B) Two C) Three d) Four 

36. Which state celebrates Utkal Divas on April 1 ?  

A) West Bengal B) Uttaranchal C) Odisha d) manipur
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28. CÍ|p]Rs	Shw}p	kL¡Ÿ]WRt	yUmÌ]\ÿ	Cj]ÕrpOÐ	NkñLvjW¥	kq]Ye]¨OW.	 
\OvRa	j¤W]p]q]¨OÐ	SWLcOWt]¤	j]ÐV	wq]pLp	D¾qU	WRº¾OW.
1) CÍ|p]¤	CÐV	8 Shw}p	kL¡Ÿ]WtOºV.
2) WOr´fV	4 yUòLj°t]¤	SkL¥	R\pÅ	SvLŸ]R£	6 wfoLjvOU SsLWVynp]Rs  

4 AUY°tOU	Bvw|oLeV.
3) yoL^VvLh]	kL¡Ÿ]	Shw}p	kL¡Ÿ]pLeV.
4) jLxe¤	k}Õ]¥yV	kL¡Ÿ]	KqO	Shw}p	kL¡Ÿ]pLeV.
A) (1) DU (2) DU	oLNfU  B) (2) DU (3) DU	oLNfU 
C) (3) DU	(4) DU	oLNfU  d) (1) DU, (2) DU (4) DU	oLNfU 

29. nPo]	JRãaO¨¤	j]poU	2013&Rj	yUmÌ]\ÿ]aS¾LtU	fLRu krpOÐvp]¤	JfLeV	wq]	?
1) CT j]po¾]jV 2013 RykVãUmr]¤	qLNìkf]pORa	AUY}WLqU	sn]\ÿO.
2) SyLx|¤	CUkLW›V	kbjU	j]¡mÌoLpOU	ja¾eU.
3) nPo]	JRãaO¨¤	WLq|¾]¤	fSÇw	y~pUnqe	òLkj°tORa	kËV	CT	j]poU	wq]
pLp]	AUY}Wq]\ÿO.

4) j]po¾]R£ 25-LU	vWOÕV	nPvOaoW¥¨Oç	jìkq]zLqU	yUmÌ]\ÿV	Nkf]
kLh]¨OÐO. 

 \OvRa	j¤W]p]q]¨OÐ	SWLcOWt]¤	j]ÐV	wq]pLp	D¾qU	RfqR´aO¨OW.
A) (1) DU (2) DU	oLNfU  B) (2) DU (3) DU	oLNfU 
C) (3) DU (4) DU	oLNfU  d) (1) DU (2) DU	(3) DU	oLNfU

30. ISÕLuLeV	CÍ|¢	y]v]¤	y¡vÿ}yV	(ICS) kq}ƒ	CÍ|p]¤	ja¾L¢	fOa°]pfV	?	
A) 1922 B) 1854 C) 1864 d) CvRpLÐOosæ

31. 2020 yÚ¡	Kt]Ò]WõV	JfV	òs¾LeV	Bh|U	j]ép]\ÿ]qOÐfV	?

 A) SaL¨]SpL	 B) CñL¢mO¥	 C) oLNc]cV		 d) r]SpL	c]	^j}SrL

32. Nkwñ	Wv] A¨]¾U	A\|Of¢	jÒPf]q]	kÄè}	Sja]p	v¡xU.	
A) 2020 B) 2019 C) 2018 d) 2017

33. fLRu	krpOÐ	\]Nf°t]¤	JfLeV	o]W\ÿ	\]Nf¾]jOç	50-LofV	SWqt	yUòLj	 
\s\ÿ]Nf	AvL¡cV	Sja]pfV	?

 A) RWµ]r B) vLyÍ]	 C) R^sæ]R¨ŸV	 d) m]q]pLe]

34. pORjyVSWL	AUY}Wq]\ÿ	RRkfQW	WsLqPk°t]¤	D¥RÕaL¾	WsLqPkU	JfLeV	?
 A) WPa]pLŸU B) oOa]SpãV C) kOs]¨t]	 d) W¤Rmsæ]p

35. KLSNy›s]p¢ KLÕ¦ 2021 vj]fL	y]UY]¥yV	\LÒ|¢x]Õ]RjLÕU,	jSvLo]	KyL¨	
INf	NYL¢cVyæLoOW¥	Sja]	?
A) KÐV B) qºV	 C) oPÐV d) jLsV

36. JNk]¤	KÐ]jV	DfVW¤	h]vyV	BSZLx]¨OÐ	yUòLjU.
 A) ké]o	mUYL¥		 B) D¾qLµ¤	 C) Kc}x	 d) oe]ÕP¡
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37. Kalamkari painting is a type of hand-painted textiles produced in which State of India ? 
A) Andhra Pradesh B) maharashtra C) Bihar d) Karnataka

38. Which is the first printed magazine in Malayalam ?
A) Rajya Samacharam   B) Jnana Nikshepam 
C) Kerala Patrika   d) Vidooshakan

39. The term ‘Cue’ is associated with which event ?
A) Hockey B) Cricket C) Boxing d) Billiards

40. Who is the first female Captain of Indian Merchant Navy ?
A) Punita Arora   B) Radhika menon 
C) mary Poonen   d) Vijayalakshmy Ramanan

41. Which among the following is the fastest memory in a computer that holds  
information ?
A) Register   B) Cache 
C) Primary memory   d) Secondary memory

42. The interface to access the services of the operating system is provided by 
A) Assembly instructions  B) API 
C) library   d) System calls

43. An IPv4 address is a ________ bit address.
A) 16 B) 32 C) 64 d) 128

44.  A computer communicates with other computers on the internet through
A) IP B) TCP/IP C) HTTPS d) Web browser

45. Which Section of IT Act, 2000 deals with legal recognition of electronic records ?
A) Section 4 B) Section 17 C) Section 43 d) Section 66

46. Which of the following diseases is not caused by bacteria ?
A) Cholera B) meningitis C) Poliomyelitis d) Tuberculosis

47. Where is the Headquarters of the Indian Space Research Organisation ?
A) New delhi   B) Thiruvananthapuram 
C) Sriharikota   d) Bangalore

48. What percentage of electricity comes from nuclear power plants in India ? 
A) 3% B) 5% C) 10% d) 12%

49. The northern part of Western Ghats is known as 
A) Annamalai Range   B) Kardamakam Range 
C) Neelagiri Range   d) Sahyadri Range

50. Which of the following device is used to measure the atmospheric humidity ? 
A) Auxanometer   B) Hygrometer 

C) Photometer   d) None of the above
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37. RRWRWLºV	vq\ÿ	KqO	fqU	fOe]¾qoLeV	WsUWLq]	Rkp]£]UYV,	CÍ|p]Rs	JfV	
yUòLj¾LeV	CfV	j]¡Ú]¨OÐfV	?
A) BNÌLNkShwV		 B) ozLqLNì	 C) m}zL¡	 d) W¡eLaW

38. ospLt¾]¤	Bh|oLp]	A\ÿa]\ÿ	oLy]W	JfLeV	?
 A) qL^|	yoL\LqU		 B) ³Lj	j]SƒkU	C) SWqt kNf]W d) v]hPxW¢

39. "W|P'	IÐ	khU	JfV	yUnvvOoLp]	mÌRÕŸ]q]¨OÐO	?		
A) SzL¨] B) NW]¨ãV C) SmLWõ]UYV d) m]s|L¡cVyV

40. CÍ|¢	o¡\ÿ£V	Sjv]pORa	Bh|	vj]fL	W|LkVã¢	BqLeV	?
A) kOj]f	ASrLr  B) qLi]W SoSjL¢
C) Soq] kPRj¢  d) v]^psƒÜ]	qoe¢ 

41. v]vq°¥	yPƒ]¨OÐ	WÒ|PŸr]Rs	JãvOU	SvYfSpr]p	RoÚr]	fLRukrpOÐvp]¤	
JfLeV	?
A) q^]ð¡  B) WLRx 
C) NkLgo]W	RoÚr]   d) Ry¨¢cr]	RoÚr]

42. KLÕSrã]UYV	y]ð¾]R£	Syvj°¥	BWõyV	R\áOÐf]jOç	C£¡SlyV	j¤WOÐfV
 A) 	AyUmæ]	j]¡SÇw°¥	 B) API 
 C) RRsNmr]	 	 	 d) y]ðU SWLtOW¥

43. IPv4 ANcôV	KqO	________ m]ãV	ANcôV	BeV.
A) 16 B) 32 C) 64 d) 128

44. KqO	WÒ|PŸ¡	C£¡Rjã]Rs	oãV	WÒ|PŸrOWtOoLp]	Bwpv]j]opU	ja¾OÐfV	________ 
DkSpLY]\ÿLeV.

 A) IP B) TCP/IP C) HTTPS d) Web browser

45. CsSNW›Le]WV	SqXWtORa	j]pokqoLp	AUY}WLqU	2000&Rs	RIa]	BW›]R£	JfV	 
v]nLYoLeV	RRWWLq|U	R\áOÐfV	?
A) Section 4 B) Section 17 C) Section 43 d) Section 66

46. fLRuÕrpOÐvp]¤	mLW›}q]p	oPsU	DºLWL¾	AyOXU	JfLeV	?	
 A) SWLtr  B) Roj]RRµã]yV
 C) SkLt]SpLRop]RRsã]yV d) ƒpSqLYU

47. CÍ|¢	Sy×yV	r]y¡\ÿV	KL¡YRRjSyxR£	BòLjU	Iv]Ra	BeV	?	
 A) j|P	Rc¤z]	 B) f]qOvjÍkOqU	 C) è}zq]S¨LŸ	 d) mLUYæP¡

48. CÍ|p]Rs	Bevj]sp°t]¤	j]ÐV	INf	wfoLjU	RRvh|Of]	vqOÐO	?
A) 3% B) 5% C) 10% d) 12% 

49. ké]oZŸ¾]R£	va¨¢	nLYU	Ar]pRÕaOÐfV		
 A) A¹LoRRs	SrµV	 	 	 B) W¡ÇoWU	SrµV
 C) j}sY]q] SrµV   d) yz|LNh]	k¡vÿfj]q

50. AÍq}ƒ	B¡Nhf	At¨L¢	fLRu	krpOÐ	DkWqe°t]¤	JfLeV	DkSpLY]¨OÐfV	?
A)  KLWõLSjLo}ã¡  B) RRzSNYLo}ã¡
C)  SlLSŸLo}ã¡  d) Cvp]¤	KÐOosæ
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51. mariya borrowed ` 16,000 from Joseph at a 5% annual compound interest rate. 
What amount will she have to pay back at the end of two years and four months ?

A) ` 17,640 B) ` 17,934 C) ` 18,228 d) ` 17,943

52. In a certain code language, if m = 13 and mIlK = 45, then INdIA = ?

A) 37 B) 40 C) 43 d) 50

53. let p, q, r be positive integers such that when p, q, r are divided by 14, the remainders 
are 5, 8, 9 respectively. What will be the remainder when 2p + 3q – 3r is divided by 14 ?

A) 5 B) 6 C) 7 d) 8

54. Two tailors, Abraham and Joju, have to stitch 400 bags. On the first day, Abraham 
stitches 13 bags and Joju stitches 18 bags. On every subsequent day, each of them 
stitches one bag more than the number of bags stitched by them on the day before. 
How many days will they take to complete their target ? 

A) 8 B) 9 C) 10 d) 11

55. Simplify 1

243

1

32

1
3

1
41

5
1
5

1

1 1

1

− −
− −

− −


















−











−
+  

A) –1 B) 0 C) 1 d) 2

56.  The value of 
3 2 1

3
5 5

11 1

1
2

1
3

1
2

2
3

− −

×( ) −  is

A) 1 B) –1 C) 2 d) –2

57. The sum, difference and product of two numbers are in the ratio 5 : 1 : 30.  
The product of the numbers is

A) 300 B) 250 C) 200 d) 150

58. If the diameter of a sphere is increased by 30%, then increase in the surface area is 

A) 69% B) 81% C) 27% d) 169%

59. What will come in the place of question mark (?) in the following series ?
7, 25, 61,121, ?, 337 

A) 140 B) 211 C) 165 d) 221

60. The angle between the minute hand and the hour hand of a clock when the time is 
8 : 25, is

A) 97½° B) 95° C) 105° d) 102½° 
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51. oq]p,	S^Lyl]¤	j]ÐV	5% vL¡x]W	yUpO©	ks]w	j]q¨]¤	` 16,000 WaU	vL°].	
qºV	v¡xvOU	jLsV	oLyvOU	Wu]pOSÒL¥	Av¥ V̈	INf	fOW	f]q]RW	j¤SWº]	vqOU	? 

A) ` 17,640 B) ` 17,934 C) ` 18,228 d) ` 17,943

52. KqO	NkSf|W	SWLcV	nLxp]¤	m = 13 DU mIlK = 45 DU	BReË]¤,	 INdIA = ?

A) 37 B) 40 C) 43 d) 50

53. p, q, r IÐ]v	SkLy]ã}vV	kP¡¹yUX|WtLp]q]¨RŸ, p, q, r IÐ]vRp 14 RWLºV	
zq]¨OSÒL¥,	w]ìU	pgLNWoU 5, 8, 9 Bp]q]¨OU. 2p + 3q – 3r Rj 14 RWLºV	
zq]̈ OSÒL¥	w]ìU	IÍLp]q]̈ OU	?

A) 5 B) 6 C) 7 d) 8

54. fá¤¨LqLp	INmzLoOU	S^L^OvOU	400 mLYOW¥	fOÐeU.	Bh|	h]vyU	INmzLU	
13 mLYOWtOU	S^L^O	18 mLYOWtOU	fOÐOÐO.	k]Ð}aOç	IsæL	h]vyvOU,	KLSqLqO¾qOU	
fSsh]vyU	fOÐ]p	mLYOWtORa	I¹S¾¨L¥	KqO	mLYV	WPaOf¤	fOÐOÐO.	AvqORa	
sƒ|U	kP¡¾}Wq]̈ L¢	INf	h]vyRoaO¨OU	?  

A) 8 B) 9 C) 10 d) 11

55. 1

243

1

32

1
3

1
41

5
1
5

1

1 1

1

− −
− −

− −


















−











−
+ sZPWq]̈ OW.

A) –1 B) 0 C) 1 d) 2

56.  
3 2 1

3
5 5

11 1

1
2

1
3

1
2

2
3

− −

×( ) −
oPs|U	WRº¾OW.

A) 1 B) –1 C) 2 d) –2

57. qºV	yUX|WtORa	BRW¾OW,	v|f|LyU,	YOejU	IÐ]v	5 : 1 : 30 IÐ	AjOkLf¾]
sLeV.	yUX|WtORa	YOejU	WRº¾OW. 
A) 300 B) 250 C) 200 d) 150

58. KqO	SYLt¾]R£	v|LyU	30% v¡È]Õ]\ÿL¤	Dkq]fs	v]ñ}¡¹¾]R£	v¡ÈjvV	INfpLeV	? 
A) 69% B) 81% C) 27% d) 169%

59. fLRuÕrpOÐ	Sèe]p]¤	S\Lh|\]ø¾]R£ (?) òLj¾V	IÍLeV	vqOÐfV	?
7, 25, 61,121, ?, 337 
A) 140 B) 211 C) 165 d) 221

60. KqO	SWæL¨]¤	8 oe] 25 o]j]ãV	BWOSÒL¥	oe]¨P¡	yP\]pOU	o]j]ãV	yP\]pOU	fÚ]
sOç	SWLe]R£	AtvV	 
A) 97½° B) 95° C) 105° d) 102½° 
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61. let x and y be integers such that x y =
x
2

y and x y =
y
3

2x⊕ ∗− − .
Then (3 ⊕ 1) ∗ (4 ⊕ –4) is  

A) –1 B) 0 C) 1 d) 2

62. The mean age of employees in a company is 35 years. The mean ages of male and 
female workers are 38 and 33, respectively. If there are no transgender workers in 
the company, the percentage of male workers is

A) 40 B) 60 C) 65 d) 70

63. If 2 men and 4 boys can finish a job in 8 days and 3 men and 2 boys can finish it in 
6 days, how many days will 12 boys take to finish the same ?

A) 24 B) 16 C) 12 d) 20

64. 13th march 2017 was monday. What day of the week was 21st February 2016 ?

A) Saturday B) Sunday C) monday d) Tuesday

65. P ⊕ Q means P is the mother of Q, P ⊗ Q means P is the brother of Q, P   Q means 
P is the sister of Q, and P  Q means P is the husband of Q. Which of the following 
means X is the father of y ? 

A) X  Z ⊕ y  B) y  Z ⊕ X 

C) X  Z  U ⊕ y   d) y  Z  U ⊕ X 

66.  A boy walks 4 km towards south. Then he turns right and walks 5 km. After that, he 
turns left and walks 2 km. He turns right again and walks 3 km. How far is he from the 
starting point ? 

A) 10 km B) 14 km C) 12 km d) 11 km

67. Select the number which replaces the question mark from the given alternatives.
225 : 17; 256 : ? 

A) 11 B) 16 C) 18 d) 19

68. A train passes a bridge in 18 seconds and a man standing on the bridge in 10 seconds. 
If the speed of the train is 90 km/hr, what is the length of the bridge ?

A) 150 m  B) 200 m  C) 250 m  d) 300 m 

69. Find the odd one.
11, 162, 813, 644 

A) 11 B) 162 C) 813 d) 644

70.  Among 250 students, 110 students like football and 152 students like cricket and 53 
students like both football and cricket. How many students like neither football nor 
cricket ?

A) 41 B) 57 C) 94 d) 99
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61. x DU y DUkP¡¹yUX|BeV. x y =
x
2

y and x y =
y
3

2x⊕ ∗− − IÐL¤
(3 ⊕ 1) ∗ (4 ⊕ –4) = ?  

A) –1 B) 0 C) 1 d) 2

62. KqO	WÒj]p]Rs	^}vj¨LqORa	wqLwq]	 NkLpU	35 vpôLeV.	kOqOxÓLqORapOU	 Nñ}
WtORapOU	wqLwq]	 NkLpU	pgLNWoU	38	DU	33 DU	BeV.	WÒj]p]¤	 NaL¢yVR^¢c¡	
RfLu]sLt]W¥	CRsæË]¤,	kOqOx	RfLu]sLt]WtORa	wfoLjU	INfpLeV	?
A) 40 B) 60 C) 65 d) 70

63. 2 kOqOxÓL¡¨OU	4 B¦WOŸ]W¥¨OU	KqO	S^Ls]	8 h]vyU	RWLºOU	3 kOqOxÓL¡¨OU	
2 B¦WOŸ]W¥¨OU	6 h]vyU	RWLºOU	kP¡¾]pL¨L¢	Wu]pORoË]¤,	12 B¦WOŸ]
W¥	AfV	kP¡¾]pL¨L¢	INf	h]vyU	IaO¨OU	?
A) 24 B) 16 C) 12 d) 20

64. 2017 oL¡\ÿV 13 f]ËtLuV\pLp]qOÐO. 2016 RlNmOvq]	21BuV\p]Rs	JfV	h]vyoLp]qOÐO	?
A) wj] B) `Lp¡ C) f]Ë¥ d) R\Lvÿ

65. P ⊕ Q IÐL¤	P IÐfV Q R£	AÚpLeV,	P ⊗ Q IÐL¤	P IÐfV Q R£	ySzL
hqjLeV.	P  Q IÐL¤	P IÐfV Q pORa	ySzLhq]pLeV.	P  Q IÐL¤	P IÐfV  
Q R£	n¡¾LvLeV.	fLRuÕrpOÐvp]¤	X, y pORa	k]fLvLeV	IÐV	A¡ÀoL¨OÐfV	
JfLeV	? 

A) X  Z ⊕ y  B) y  Z ⊕ X 

C) X  Z  U ⊕ y   d) y  Z  U ⊕ X 

66. KqO	B¦WOŸ]	RfS¨LŸV	4 W]SsLo}ã¡	ja¨OÐO.	k]RÐ	vsS¾LŸV	f]q]´V	5 km jaÐO. 
Af]jOSwxU,	Av¢	CaS¾¨V	f]q]´V	2 W]SsLo}ã¡	jaÐO.	Av¢	v}ºOU	vsS¾LŸV	
f]q]´V	3 W]SsLo}ã¡	jaÐO.	Av¢	BqUn	SkLp]£]¤	j]ÐV	INf	AWRspLeV	? 
A) 10 km B) 14 km C) 12 km d) 11 km

67. fLRu	j¤W]p]q]¨OÐf]¤	j]ÐV	S\Lh|\]ø¾]jV	kWqU	vàOÐ	jÒ¡	RfqR´aO¨OW.
225 : 17; 256 : ? 
A) 11 B) 16 C) 18 d) 19

68. KqO RNap]¢ 18 Ry¨¢c]jOç]¤	KqO	kLsU	WaÐO	SkLWOÐO.	KqO	ojOx|¢	10 Ry¨£]
jOç]¤	kLs¾]jV	oOWt]¤	j]¤¨OÐO.	RNap]j]R£	SvYf	90 km/hr BReË]¤ kLs
¾]R£	j}tU	INf	? 
A) 150 m  B) 200 m  C) 250 m  d) 300 m 

69. WPŸ¾]¤	S\qL¾fV	WRº¾OW.
11, 162, 813, 644 
A) 11 B) 162 C) 813 d) 644

70.  250 v]h|L¡À]Wt]¤	110 v]h|L¡À]W¥	lOaVSmL¥ CìRÕaOÐO.	152 v]h|L¡À]W¥
NW]¨ãV	CìRÕaOÐO,	53 v]h|L¡À]W¥	lOaVSmLtOU	NW]¨ãOU	CìRÕaOÐO.	lOaVSmLtOU	
NW]¨ãOU	CìRÕaL¾fV	INf	v]h|L¡À]W¥	DºV	? 

A) 41 B) 57 C) 94 d) 99
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71. Choose the correct one from the options given below to complete the sentence.

If I had seen anything strange, _________

A) I will let you know   B) I would have let you know 

C) I would let you know   d) I will have let you know

72. Use the correct preposition from the options to fill up the blank with.

Are you going away _______ Onam ? 

A) at B) in C) during d) on

73. Fill up the blank with correct word from below.

He was very polite. Whenever his wife entered the room, he _______ up. 

A) stand   B) would stand 

C) used to stand   d) stood

74. Fill up the blank with the correct option.

Neither he nor I _______ to suffer. 

A) am B) is C) are d) were

75. Choose the correct combination from the options given below to fill up the blanks 

with.

I caught him _______ over my wall. I asked him ________ but he refused ________ 

anything, so I had ________ him go.  

A) as climbing, to explain, to say, to let B) climbing, explain, saying, let 

C) climbing, to explain, to say, to let d) as climbing, say, to explain, let

76. Choose the correct passive form of the given sentence.

When will they announce the election results ? 

A) When will the election results be announced ?

B) When would the election results be announced ? 

C) When would the election results being announced ?   

d) None of these
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77. Select the correct indirect form of the given sentence.

Another passenger came in and said, “is this seat taken ?” 

A) Another passenger came in and enquired if the seat was taken.

B) The other passenger came in and asked if the seat was taken. 

C) Another passenger came in and said if the seat was taken ?   

d) Another passenger came in and enquired if that seat was taken.

78. Fill up the blank with the right option from below.

I saw _______ one eyed man in the film. 

A) an B) a C) the d) no article

79. Identify the part of the sentence that needs to be corrected. 

Before they/ were caught / they were used to live / in the jungle 

A) B)  C)  d) 

80. Choose the correct tag.

Come to my house, _______ ? 

A) don’t you B) won’t you C) will you D) can’t you

81. Fill up the blank with the right option from below.

Raju _______ his wife to tell her that he could be home late. 

A) called   B) called up 

C) called to   d) called on

82. Inter alia means 

A) among other things    

B) for an intervening or temporary period of time 

C) a place where a road joins a major road   

d) none of the above

83. A strongly condemnatory utterance : 

A) Obliquity   B) Antiquity 

C) Obloquy   d) Oblong
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84. Fill up the blank with the right option from below.

On the wall there was a large _______ photograph of their children. 

A) colourful   B) coloured 

C) colour full   d) colour

85. Choose the correctly spelt word. 

A) enterpreneur   B) entreprenuer 

C) entreperneur   d) entrepreneur

86. Fill up the blank with the right option from below.

my family _______ decided to move to the city. 

A) have   B) has 

C) both A) and B)   d) none of the above

87. Select the correct full form of GNP. 

A) Green National Party   B) General National Product 

C) Gross National Product d) Green Nature Party

88. “Not look a gift horse in the mouth” means 

A) Don’t do inauspicious things 

B) do not criticise or feel doubt about something good that has been offered to you

C) Do not be influenced by gifts   

D) However valuable a gift is, don’t hesitate to give it to someone you care for

89. Which of the following is not a meaning of ‘deceitful’ ? 

A) Crafty   B) Copious 

C) designing   d) Shifty

90. Select the word opposite in meaning to ‘inclination’. 

A) descent   B) liking 

C) hatred   d) disposition
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91. wq]pLp	khU	JfV	?	

A) AjONYz}fU B) AjOYQz}fU C) AjONYz]fU d) AjOYQz]fU

92. jÒ|L¡	IÐ	kh¾]R£	Nñ}s]UYU.		
A) jÒ|Lf]q] B) jÒ] C) j°|L¡ d) jÒ|L¾]

93. k]q]R\ÿuOfOW.	AÍô¾		
A) AÍ¡	+	y¾ B) AÍ	+	y¾	 C) AÍ	+	ô¾ d) AÍ:	+	y¾

94. wq]pLp	vLW|U	JfV	?		

A) IR£	WPRa	S^Ls]	R\áOÐ	KqO	yzNkv¡¾WRj	pLNfLoSÈ|	WºOoOŸ]

 B) IR£	KqO	yzNkv¡¾WRj	pLNfLoSÈ|	WºOoOŸ]

C) pLNfLoSÈ|	IR£	WPRa	S^Ls]R\áOÐ	yzNkv¡¾WRj	WºOoOŸ]  

d) pLNfLoSÈ|	IR£	WPRa	S^Ls]	R\áOÐ	KqLRt	WºOoOŸ]

95. kOSqLYf]	IÐ	kh¾]R£	v]kq}fkhU.		

A) ASiLYf] B) kLéLhVYf] C) AkOSqLYf] d) j]¡Yf]

96. WLaOU	kasOU	fsæOW	IÐ	RRws]pORa	A¡ÀU.		

A) ANky©oLpfO	Nkf]kLh]¨OW   

B) SvŸpLaL¢ SkLvOW

C) WLeLRf	SkLpfV	ASj~x]¨OW   

d) oãOçvRq	AWLqeoLp]	DkNhv]¨OW

97. S\¡R¾uOfOW.		v]h|OfV	+	w©]		

A) v]h|Oê©] B) v]h|OéWVf]	 C) v]h|O±©] d) v]h|O\ÿ©]

98. wq]pLp	v]v¡¾jSofV	?	
  The blood of the revolutionaries coursed through the streets. 

A) v]kævWLq]WtORa	qWVfU	RfqOv]Rj	\OvÕ]\ÿO

B) v]kævWLq]WtORa	RfqOvV	q©¾]¤	WOt]\ÿO

C) v]kævWLq]WtORa	q©U	RfqOv]Rj	kLb°¥	kb]Õ]\ÿO

d) v]kævWLq]WtORa	q©U	RfqOv]sPRa	KuOW]

99. kOsæV	IÐ¡ÀU	vqOÐ	khU	JfV	?
A) fQeU B) ZQeU C) EeU d) ZQfU

100. \OvRa	RWLaO¾]q]¨OÐf]¤	WL¨pORa	kq|LposæL¾SffV	?		

A) \]q`V^}v] B) JWhQxVa] C) ms]nO¨V d) v]w~SWfO
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S\Lh|°tORa BRW I¹U : 100 yopU : 75 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

S\Lh|kOñW AƒqSWLcV
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         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|		WasLôV	j¤WOÐfV	S\Lh|	kOñW	qPk¾]sLeV.	a, B, c, d IÐ}	jLsV	Aƒq	SWLcOWt]sOç	
S\Lh|	kOñW°tLeV	j¤WOÐfV.

2. S\Lh|	kOñW¾]R£	oOWt]¤	CafV	vw¾V	NkSf|W	SWLt¾]¤	S\Lh|kOñW	Aƒq	SWLcV	Aˆa]̂ ]ŸOºV.

3. KLSqL	DSh|LYL¡À]¨OU	j¤W]p]ŸOç	S\Lh|kOñW	Aƒq	SWLcV	AvqORa	kq}ƒL	zLt]Rs	Cq]Õ]
a¾]¤	SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ	Aƒq	 SWLc]¤	j]ÐOU	v|f|ñoLp	 SWLc]sOç	 S\Lh|kOñWoLeV	
sn]¨OÐRfË]¤	AfV	Daja]	C¢v]^]SsãrORa	èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW	 NWojÒ¡	kOrU	\ŸpORa	vsfOvw¾V	oOWtã¾Lp]	S\¡¾]ŸOºV.	 NWojÒ¡	CŠL¾	 
S\Lh|kOñWoLeV	j]°¥ V̈	sn]¨OÐRfË]¤	ASf	Aƒq	SWLc]sOç	S\Lh|kOñWU	oLã]	vL°OW.

6. S\Lh|	kOñWU	vsfO	oL¡^]j]¤	oÈ|nLY¾Lp]	y}¤	R\pÅ]q]¨OU.	D¾qRouOfLjOç	AjOof]	 	  
sn]ˆLsŠLRf	S\Lh|	kOñWU	fOr¨L¢	kLa]Š.

7. kq}ƒ	fOa°]pLsOa¢	DSh|LYL¡À]	fj] V̈	sn]ˆ]q]¨OÐ	S\Lh|	kOñW¾]¤	100 	S\Lh|°tOU	NWooLp]	
DSºL	IÐV	kq]SwLi]S¨ºfLeV.	S\Lh|	kOñW¾]¤	Aˆa]¨L¾SfL,	W}r]pSfL,	v]ŸOSkLpSfL	
Bp	Sk^OW¥	DºLW]Š;	AgvL	DRºË]¤	A¨Lq|U	C¢v]^]SsãrORa	èÈp]¤	RWLºOvq]WpOU	
ASf	Aƒq	SWLc]sOç	kP¡¹oLp	S\Lh|	kOñWU	oLã]	vL°OWpOU	R\SáºfLeV.	CfV	JãvOU	
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 70 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh|	kOñW¾]R£	AvyLj	Sk^]jO	RfLŸOoO¢kV	KÐOU	IuOfL¾	qºV	Sk^OW¥	S\¡¾]ŸOºV.	CfV	
D¾qU	WºOk]a]¨OÐf]jOç		WOr]ÕOW¥¨Lp]	DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU	D¥RÕRa	KLSqL	S\Lh|¾]jOU	(A), (B), (C), (D) IÐ	jLsV	D¾q°¥	fÐ]q]¨OU.	wq]
pO¾qU	RfqR´aO¾V	K.	IU.	B¡.	D¾q¨asLy]¤	mÌRÕŸ	S\Lh|	jÒr]jV	SjRqpOç	wq]pO¾qU	
yP\]Õ]¨OÐ	WOo]t	(mm]¥)	oLNfU	j}sSpL	WrOSÕL	mL¥	SkLp]£V	Skj	DkSpLY]ˆV	WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL	yopU	Wu]pOÐf]jV	oOSÒL,	D¾q¨asLyV	C¢v]̂ ]SsãRr	J¤Õ]̈ LRfSpL	KqO	DSh|LYL¡À]pOU	
kq}ƒLzL¥	v]ŸV	kOr¾OSkLWL¢	kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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